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1) Combinng €€ =600 owd (F-4)(C15)=600, w get ¢ = Goo
and = ZOIE  Equating ZEUC - Goo Wt get Ye*420c :Caooo/
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I-2) 07 = O.uivnae, .
O = O, \zlriz., ., Since ‘ﬂ-C-m(’,z.Q:él%e
©.(a3 = O, \r>123.. Sum LAl repeat wik et most

Suwm = [0.3554%¢ | 6 digits,

1-3) Remouing 20 nidcels ;\'*f,\e. value oFf Hre VeMAIN fne COMS TS

(00, Now,” For every quarter theie are S dimes qug 3; nidde s

S e Hased4sCog)+ s(50) = #’-00, e pile must have lop
Guarters, 500 dimes, qal [F2Z0) nickels,

1-9) r Lol Pand G hedhe respective centen of the larger aud
Smaller circles. Since Hheyare all radiy ofthe Smaller cinle
&S:QR:QP:l ' 51"\.\\ar\b, PR=Ps :\SZ—., Se AQRPQ,“_IAQSP
/ are 1sesceles cighttriangles . The area ofthe lune 4s is hal®
dtre are of OR minus e avea of Une smgller Seq ment of
OF, whose area 4 /o dhe area oF GP minusthe afed of APRS
The answer 4 %..(T_‘_i_.\):m‘ .
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I-s) An Tnh_eger«’o Qa m\h‘e(e ot 9 ifand m\(&\r,g dve Sumof its
digits 2y a multiple of 9. Anumber whose “digit-sum ts odd
must have at least one odd digit, sodtre least sum of digits

Tor ouf number A, [, Sinte 39 ic nol correct, Hre Numbier Mmust
have 3 d(z{’ts.?r o Number tndre 200's. & sum of IF, uwith o

hundred's digit oF 2, the only possinilidy iy [295].
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